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Cevap: B
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Cevap: C
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O halde a.b = 3.2 = 6  bulunur.

Cevap: D
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Cevap: E
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x2 + mx + n = (x + 1)(x – 8) = x2 – 7x – 8
m = –7   ve   n = –8
m.n = (–7).(–8) = 56  bulunur.

Cevap: E
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Cevap: B
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7.	 	 a b
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2+
+ 	= 4

3
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Cevap: A
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	 x2 + ax + b	= (x + 1)(x + 5)   olmalı sadeleşme sonucu
	 x2 + ax + b	= x2 + 6x + 5
	 a = 6   ve   b	= 5
	 2b – 3a	= 2.5 – 3.6
		 = 10 – 18
		 = –8

Cevap: E
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Cevap: A
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Cevap: D
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Cevap: B
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Cevap: C
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13.	
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Cevap: B

14.	 	 x	= (1 + 24)(1 + 28)(1 + 216)
	(1 – 24).x	= (1 – 24).(1 + 24)(1 + 28).(1 + 216)
	
	(1 – 16).x	= (1 – 28)(1 + 28).(1 + 216)
	
	 –15x	= (1 – 216).(1 + –216)
	
	 –15x	= 1 – 232

	 232	= 1 + 15x  bulunur.
Cevap: D
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Cevap: C
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Cevap: B
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Cevap: A
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Cevap: B
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Cevap: D

20.	 x – x
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x
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x
4
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	 A	= 5

Yani	 x – x
2 	= 5

	 x
x 22 - 	= 5   ⇒   x2 – 2 = 5x

	 x2 – 5x	= 2 bulunur.
Cevap: B


